3GPP TSG-RAN WG3 #112-e
R3-212571
17 May– 28 May 2021

Online
Agenda item:
10.3.2.2
Source: 
ZTE
Title: 
MDT for MR-DC
Document for:
Discussion and Approval
Introduction

MDT for MR-DC has been touched in RAN2# 113e meeting. Related progress copied below:
1: In case split bearer data goes through Xn/X2 interface, the delay over Xn/X2 interface should be taken into account in M6 for split bearers.

2: D3 is re-used to reflect the DL delay on F1-U/X2/Xn, D2.3 is re-used to reflect the UL delay on F1-U/X2/Xn, LS to RAN3 for further confirmation.

3: The delay over Xn/X2/F1-U interface should be taken into account in M6 for MN terminated SCG bearers and SN terminated MCG bearers.

Based on RAN2’s progress, this contribution provide our view on MDT for MR-DC.
Discussion
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Figure 1: SN terminated MCG/split bearers and MN terminated SCG/split bearers
As shown in figure 1, it’s RAN2’s understanding the delay over Xn/X2 interface should be taken into account for M6 measurement. 

M6 measurement stands for RAN part delay, which is defined in [38.314] and includes uplink delay and downlink delay. Uplink delay further includes D1, D2, D3 and D4. As shown in figure 2, take SN terminated split bearer for example, D4 refer to Average delay DL in PDCP of SN. D3 refers to delay over Xn/X2 interface. While D1 and D2 refer to delay in RLC layer and Uu layer in the MN. Therefore, for SN terminated split bearers, M6 uplink delay includes MN part ( D1,D2）plus SN part（D3, D4) .

Observation: For SN terminated MCG/split bearers and MN terminated SCG/split bearers, M6 delay includes MN part plus SN part. 

Therefore, the MN and SN must be executed separately to complete the M6 measurement. For the MDT of the M-based triggered on the SN, the M6 measurement on the MN cannot be performed because based on legacy specification, the MN is not able to aware MDT configuration provide by SN.
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Figure 1: Signalling sequence for SN initiated M-based MDT for M6
Take figure 1 as example, the signalling sequence is shown below:
Step 0: MR-DC for a UE has been configured

Step 1: MR-DC for a UE has been configured

Step 2: S-Node MDT Activation, Including M6 configuration

Step 3: Enforce MN part M6 measurement
Step 4: Provide report to TCE
Based on above signalling, it is propose to introduce S-Node MDT Activation message for M-based MDT in case of MR-DC scenario.  
Proposal : Introduce S-Node MDT Activation message in XNAP.
3. Conclusion

In this contribution , the observation and proposals are:

Observation: For SN terminated MCG/split bearers and MN terminated SCG/split bearers,M6 delay includes MN part plus SN part.

Proposal : Introduce S-Node MDT Activation message in XNAP. Corresponding TP can be found in [1].
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